
24 12

20

＝

2 ＝ 2 4

× 1 2

240

＝

③ 2 4 × 1 2 − 4 − 4 × 1 2× 1

98

0 0

＝ × 8 − 2 × 8

② 9 8 × 8

× 7

7000

＝

＝ 1 − 2 × 8

125

2 5 ＝ 8 ×

1000

＝ 1 0 0 0

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 8 × 7 × 1 × 71 2 5

80

160

＝ − 1 6

＝

③ 確認

(うすい字はなぞりましょう。)

( )

( )

3

( )



240

＝ 2 4 0

1
125

1

1
1000

12

6

× 2

＝ 8 0 0 −

24

20

＝ 1 2×2 0

×2 4 − 42×4 ＝ 1 2③ 1 2×2 4 − 1

0

＝ 7 8 4

0 0 − 8×

0 − 2

2
80

160

1

98

＝ 8×1

＝ 8×1 0② 8×9 8

0

＝ 0 0 0
7000

7

＝ 7×0 0

5 ＝ 7×8

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 7×8 × 2 5

③ 確認 答え

(うすい字はなぞりましょう。)

( )

( )

( )

3


